Observable Bin 1 Bin 2 Bin 3 Bin 4 Bin 5 Bin 6 Bin 7 Bin 8 Bin 9 Bin 10 Bin 11 Bin 12
my (GeV)  [4085]  [4070]  [70,120]  [85120]  [85120]  [85,120]

my (GeV)  [1235]  [3565] [35,65] [30,35] [24,30] [12,24]

|yl [0,0.5] [0,0.5] [0,05] 005 | [051.0] [051.0] [0510] | [1.025] [1.025] [1.0,25]

P (Gev) [0,40] [40,80]  [80,150]  [150,c0] [0,45] [45120] [120,c0[ | [045]  [45120]  [120,00[

N 0 0 0 1 1 1 1 >=2  >=2  >=2 >=2

i (Gev) [0,15] [15,30] [30,00[ [0,60] [60,80]  [80,120] [120,c0[ | [0,100] [100,170] [170,250] [250,00[
p]:Tl(GeV) Now <2 [30,60]  [60,350]  [60,350]

P (GeV) [30,60] [30,60]  [60,350]

P (Gev) [0,30] [045]  [30,350]  [45,350]

P (GeV) s < 1 [0,85] 85,350] [0,85] [85,350]

TIX(GeV)  0et|TE  0jet| T 0et| T Oet| T O-jet| T Oet|T@™ax | [15,25] [1525] | [2540]  [2540] | [40,c0[  [40,00[
P (Gev) [0,15] [15,30] [30,45] [4570]  [70,120]  [120,0[ | [0,120] [120,c0 | [0,120]  [120,0[ | [0,200] [200,00]




